EPSON
o ELPFP13

RFH A4 X A3(297 x 420 mm)

o p . | ®©

Penetrating screw and nut p=E8
Screw 3 (M5 x 70)
Nut 3 (M5)
Vis et écrou pénétrants
Vis 3 (M5 x 70)
Ecrou 3 (M5)

Pipe A Pipe B @RI/ Fo b Instruction manual
Tube A J TubeB )L k3 (M5x70) Mode d’emploi
184 TA 184 7B + v k3 (M5) HEikEiaAZE

ELPFP13/ELPFP14

Ornamental bush
Douille ornementale

ARV AU YA
*411469100*

Ornamental bush
Douille ornementale

K -

Penetrating screw and nut p=E"
Screw 3 (M5 x 70)
LA Nut 3 (M5)
A Vis et écrou pénétrants
Vis 3 (M5 x 70)
Ecrou 3 (M5)
Pipe A Pipe B B@ERILE/ Ty b Instruction manual
Tube A Tube B RIL F3 (M5x70) Mode d’emploi
"1 TA 7B +v k3 (M5) HiREREAE
5 J

Projector

Lens-side

Projector
Lens-side

Projector
Lens-side

I:> o \
Projector
Lens-side 0|

=
P

Projector

Lens-side ,v
Y
& X

Extension Pipe Instruction manual

This product is an extension pipe with height adjustment function for
increasing the ceiling clearance of a projector that has an Epson
projector ceiling mount installed.

Projectors cannot be mounted on the ceiling using only these
extension pipes. Order the separate ceiling mount exclusively for
projectors.

Please notice that Epson assumes absolutely no responsibility for

1. Safety Cautions

The warning mark shown below is used throughout this instruction manual to ensure
correct usage and to prevent personal injury or property damage. Please read the
instructions carefully and understand the contents before proceeding.

AWaming

This mark is used wherever improper handling resulting from ignoring the contents of

2. For Safe Usage

&Warning

e After installation, any change in the direction or angle should be made by a
specialist.

e Never loosen any of the bolts, screws or nuts after installation.

® Do not swing from the ceiling mount. You may fall from the ceiling mount, or the

4. Installing the Extension Pipes

See@: Use the penetrating screws and nuts provided to attach pipe A to the
ceiling plate, as shown in the diagram.

See @): Install pipe B onto the tilt adjustment fixture as shown in the figure.
For installation, use the screws included in the ceiling mount
package.

See @): Use the penetrating screws and nuts provided to fix pipe A and pipe

this instruction manual could result in personal injury or even death.

projector may fall, and cause an injury. B, as shown in the diagram.

ﬁ an?/] da(;r;age ?;hipjury ;est:lting from the incorrect mounting, assembly Fit the ornamental bush if required to conceal the hole in the ceiling.
- or handling of this product. A . . .
— The design of the actual product may not be identical to that shown in Warnmg 3' CheCkmg the Accessories Wi Bemsvine e Bieieeier fam (e Celfine Mot
O the illustration. e This product is sold on the assumption that the installation work will be performed by Check the package to make sure that all accessories are present. (See 0) SAULE Y X gihe _OJeC OffIro! ?, elingivou
c Specifications are subject to change without notice. a specialist with the required technical knowledge and abilities. It should not be When changing the position for fastening pipe A and the extension pipes, you can adjust the Before removing the projector from the ceiling mount, remove all cables
11 Prepare the necessary tools beforehand. installed by anyone else. position from the ceiling to the projector as follows: connected to the projector taking care to prevent them from being subjected
Read this instruction manual thoroughly to ensure the safe usage of o Assemble the various parts using appropriate methods to assure sufficient strength. ELPFP13 668 mmto 918 mm Pitch 50 mm LWL I
this product. Also, store this instruction manual for future reference. Be sure to tighten all screws thoroughly. Improper assembly can cause this ELPFP14 918 mm to 1168 mm Pitch 50 mm
mounting bracket to fall. To adjust the position of the projector's image, refer to the "Ceiling Mount Instruction Manual".
- [¢] 4 p proj g g
Inquiries e With the projector, the total weight becomes up to several tens of kg. Carefully check
Any inquiries should be directed to the address shown in the the construction, material and strength of the ceiling and use the most appropriate
projector instruction manual. methods to prevent falling.
e \When fastening screws in the places specified, always use the screws provided.
Tube d'extension Mode d'em pIoi 1. Consignes de sécurité 2. Pour une utilisation en toute sécurité 4., Installation des tubes d'extension
Le repére d’avertissement indiqué ci-dessous est utilisé dans ce manuel pour garantir C . Voir @: Utiliser les vis et les écrous pénétrants fournis pour fixer le tuyau A
Ce tube d’extension dispose d’'un réglage de hauteur permettant une utilisation correcte et éviter tout risque de blessures physiques ou de dommages du Avertissement 4 la plaque de plafond, comme indiqué sur le schéma.
d’accroitre I'espace entre le plafond et le projecteur lorsqu'il est matériel. Lire attentivement ce manuel et bien I'assimiler avant de procéder. ® Aprés l'installation, tout changement de direction ou d’angle devra étre confié a un Voir @: Placer le tube B sur l'armature de réglage de l'inclinaison comme
installé au plafond avec un étrier de montage de projecteur Epson. A - spécialiste. décrit sur le schéma. Pour cette installation, utiliser les vis incluses
| est impossible de monter les projecteurs seuls avec ces tubes Avertissement o ) o . ] ) ® Ne jamais desserrer les boulons, les vis ni les écrous aprés l'installation. dans I'emballage de I'étrier de montage.
d'extension. Il est nécessaire d'utiliser I'étrier de montage pour Ce repére est utilisé chaqus fois qu'une mauvaise opération due a une méconnaissance ® Ne pas se balancer sur I'étrier de montage. Vous pourriez chuter ou provoquer la Voir @: Utiliser les vis et les écrous pénétrants fournis pour fixer le tuyau A
rojecteur (vendu séparément). du mode d’emploi risque d’entrainer des blessures physiques, voire la mort. . - e : o .
proj P chute du projecteur, entrainant ainsi des blessures physiques. et le tuyau B, comme indiqué sur le schéma.
_9 Noter qu’Epson n’assume aucune responsabilité pour les dommages érer la douill ale si nécessai - \ dans |
m ou les blessures résultant d’un montage, d’'un assemblage ou d’une Avertlssement o . ] Insérer la douille ornementale si nécessaire pour masquer 1e trou dans le
On utilisation incorrects de I'appareil. Ac T e P - T — i 3. Vérification des accessoires plafond.
= Le design du produit réel peut ne pas tre absolument identique a e e Vérifier que 'emballage contient tous les accessoires nécessaires. (Voir @) i j étri
celui des illustrations. par un spécialiste disposant du savoir-faire et des compétences techniques q, 9 . : ? 5 o Retirer le projecteur de I'étrier de montage
E Les spécifications sont sujettes & modification sans préavis. nécessaires. Le produit ne devra pas étre installé par toute autre personne. Lors dtu dcplaicc'mcnt de m*lltcfrlc(lj pour ﬁxér ltC ‘mbc A, il est possible de régler la position du Avant de retirer le projecteur de I'étrier de montage, enlever tous les cables
LL Préparer aussi tous les outils nécessaires. e Assembler les différentes parties a I'aide des méthodes appropriées pour que pmJeC;t';g;;g"”%g;” pla 9%1céomlne SFL,” : . connectés au projecteur en prenant soin de ne pas les soumettre a une force
mm a mm Pas 50 mm

Lire attentivement tout ce mode d’emploi pour garantir une utilisation
de I'appareil en toute sécurité. Par ailleurs, conserver ce mode
d’emploi pour pouvoir s’y référer ultérieurement.

Demande de renseignements
Pour tout renseignement, s’adresser a I'adresse indiquée dans le
mode d’emploi du projecteur.

'ensemble offre une résistance suffisante. Bien visser toutes les vis a fond. Un
montage incorrect risque de provoquer une chute de I'étrier de montage.

e Le poids total, projecteur compris, est de plusieurs dizaines de kilos. ; en
conséquence, avant de procéder au montage, bien calculer la tolérance de charge
admissible des boulons d’ancrage. Vérifier soigneusement la construction, le
matériau et la résistance du plafond, et observer les méthodes de montage les
mieux adaptées pour éviter toute chute.

® Toujours utiliser les vis fournies et les fixer aux endroits spécifiés.

inutile.

ELPFP14 918 mma 1168 mm Pas 50 mm

Pour ajuster la position de I’image du projecteur, se reporter a « Etrier de montage Mode
d’emploi ».

AR\ THUNEREAE

YRR ITV RTOV72—ARARNEEICEM 70
Tr78—% RFIFPSLVEL TERT 358 0. SSHEREEED
DWEEER/INMATTY,

CORENAT I TCIRTAS I 2—45RKAITHIETEEE
ho CORERIMTEROTOY 72— KABNEEERE KD
P&,

HH A RE LA R. BURARICE DB BEICDOVTIE,
LHIFEEEEVEHEADTI T HRLEE,
1IAMIERDHBMET KD BEDHBEN HVET,
ARIITFELULCEETIHEDHIET,
TEEPBEICSUTTHBLS,

YR DERRICTERWELEL OIS BTRIESHBAEZE % B 5 A<
&V T2 BUIRERBAZ I3 K TICREL T,
FWEhesk

CARBBLEREHYELS, TOT 12— R EO IR FEAE(C
RHIN TV BRVEDERICTERZS,

1. Z2 EOTEE
ANEUREREAE Tl BRRICIELKZERWELE SBEREPMEDANDEECHEDE
BERRICHHLL T B TRDEIERRETOTHNET ABRELIEBELAEIZAT,
AR EBFTALIEE,

se e CORTEERUT RSEBNRVESTIE AP R TERBEREEDF]

ST RN EESNINBERLET,

MNELE

=

o ARBUGIE. T D LHEIM. FHEEA B T2 TEEFIEEN EITETHOEERIRELT
BRFEL THET, EFEZFLIFMIFETIL AW T,

o ZNZNDEREIL FRED + PR TEDSLITE YA AETHMAA TSN XY
FZLIHFOT I TLEESN AL LI TR . F TEHEDREREL)ET,

o REIFITOT IV 2—%2EHETE. RAR kgD BEE LT BV FTIT DRI,
FRMEEAEZEA1TV. BEOIBE. M. BEE+9ICHERL. BEL AL THEE
([T TLERLY,

e IEETDX I LT REMMDRIE(ERAL TLLEIL,

R

2. REIZTHERAWELEDIC 4. /A TORIFGA

ZH @ DI RO E EANN/ F o e ff LT 7 AR K

ax A4 FL— NI HTET
= = B ©: ML AT BERERES LT ET
o XBERNDEIETHTEHFIEE TITo TR, POFHFIER D) & B FARO A2l L T8,
o BUfFERE %13 RUTARILNER-FyMIOBDHTIEWTEE A, LR @: DI FEHOE BRIV FoMae LT A7 AL A
* XANEBICRSTHOANTLERIW, KAWEENSEE/), 7OV T 72—DET TBEREELET
LT P DERICHEBZED B ET, RILFE T a7 E  LBAR U TRHFE I AT TLE3 v,

XKAWEEIPSTODTIZ—EBINTIEE
o —7 VAR DI, T OV 2 27— T T
WA —7 VAR T NTHAL TS, 7ay 225 —Z R AL <L
7280,

3. RGNS
AERPEVHIEEL TS, (BIE @)
IATALIL R A TR E T AN EEZZEZLE K 0H7 0y 28— TONMEE DL
TOINTETEET,
ELPFP13 668mm~918mm EF50mm
ELPFP14 918mm~1168mm ¥ 50mm
Y GMWME O EA T T A0 [ RMV & B NG |2 87280,

Printed in China 411469100




RTFH A4 X A3(297 x 420 mm)

1 B
Q = & &

9| L Zierblchse
Spannschraube und Mutter
Schraube 3 (M5 x 70)
Mutter 3 (M5)

Vite autofilettante e dado
Vite 3 (M5 x 70)
Dado 3 (M5)
Tornillo penetrante y tuerca
Tornillo 3 (M5 x 70)
Tuerca 3 (M5)

Rohr A Rohr B
Tubo A J TuboB
Tubo A g Tubo B

Boccola decorativa
Forro ornamental

Bedionungsanleitung
Manuale di istruzioni
Manual de instruccién

ELPFP14
Zierblichse
Spannschraube und Mutter Boccola decorativa
Schraube 3 (M5 x 70) Forro ornamental
Mutter 3 (M5)
(A Vite autofilettante e dado
o Vite 3 (M5 x 70)
Dado 3 (M5)
Tornillo penetrante y tuerca
Rohr A Rohr B Tornillo 3 (M5 x 70) Bedionungsanleitung
Tubo A Tubo B Tuerca 3 (M5) Manuale di istruzioni
Tubo A Tubo B Manual de instruccién
S

e Projector
Lens-side

Projector
Lens-side

Projector
Lens-side

s:} e
@.
~
W\ a
a \
12 \
= Jarg 4
Projector Projector
Lens-side Lens-side 0|

Verlangerungsrohr Bedienungsanleitung

Dieses Produkt ist ein Verlangerungsrohr mit Héheneinstellfunktion
zur VergroRerung des Deckenabstands eines Epson-Projektors mit
vorhandener Deckenhalterung.

Ein Projektor kann nicht mit diesen Verlangerungsrohren allein
befestigt werden. Es muss die speziell fir Projektoren vorgesehene,
getrennt erhaltliche Deckenhalterung bestellt werden.

EPSON kann keine Verantwortung fir Schaden oder Verletzungen

1. Sicherheitshinweis

Die unten gezeigte Warnmarkierung wird in dieser Bedienungsanleitung verwendet, um

eine richtige Anwendung sicherzustellen und um Unfélle mit Verletzungen oder
Sachschaden zu vcrmeiden. Diese Bedienungsanleitung vor dern Zusammenbau und
Montage sorféltig lesen und sich mit dem Inhalt vertraut machen.

AWarnung

Diese Markierung weist in der Bedienungsanleitung darauf him, daR die MiRachtung
der Anweisungen zu schweren Unféllen oder Sachschaden flihren kénnen.

2. Zur sicheren Verwendung

AWarnung

e Nach der Installation diirfen weitere Anderungen der Richtung oder des Winkels nur
von einem Spezialisten ausgefiihrt werden.

e Niemals Steckschrauben, Schrauben oder Muttern nach der Installation I6sen.

® Nicht an der Deckenhalterung ziehen oder daran schaukeln. Es besteht
Verletzungsgefahr, da Sie selbst oder der Projektor herunterfallen kénnte(n).

4. Anbringung der Verlangerungsrohre

Siehe @: Die mitgelieferten Spannschrauben und Muttern zum Anbringen
von Rohr A an der Deckenplatte verwenden, wie in der Zeichnung
dargestellt.

Siche @: Rohr B wie in der Abbildung gezeigt an die
Kippeinstellvorrichtung montieren. Zur Montage die mit der
Deckenhalterung mitgelieferten Schrauben verwenden.

Siche @: Die mitgelieferten Spannschrauben und Muttern zum Befestigen
von Rohr A und B verwenden, wie in der Zeichnung dargestellt.

c ibemehmen, die durch fehlehaften Zusammenbau, Befestigung oder . . . o . Lo )
o Behandlung des Produktes verutsacht werden. Awarnung 3. Prifen des Lieferu mfangs Wenn erforderlich die Zierbiichse anbringen, um die Offnung in der Decke
7] Das_Design des_ vorhander?en Produktes kann leicht von dem in der e Dieses Produkt wird unter der Voraussetzung verkauft, daf der Zusammenbau und Den Paclﬁungsinhalt auf das Vorhandensein aller Zubehdrteile priifen. (Siehe 0) zu verdecken.
st Abbildung gezeigten abweichen. ) die Einbauarbeiten von einer fachkundigen Person ausgefiihrt werden, die (iber das Bei einer Anderung der Befestigungsposition von Rohr A und dem jeweiligen - -
=) Anderungen bei Design und technischen Daten bleiben ohne notwendige technische Wissen und ausreichende praktische Fahigkeiten verfligt. Verlidngerungsrohr konnen folgende Positionsanpassungen zwischen Decke und Projektor Abmontieren des. PrOJektors'von der Deckenhalterung
()] vorherige Anktindigung vorbehalten. . Diese Arbeiten sollten keinesfalls einer ungeschulten Person (iberlassen werden. vorgenommen werden: Vor dem Abmontieren des Projektors von der Deckenhalterung alle Kabel
()] Die erforderlichen Werkzeuge vorher bereitiegen. ) e Zur Gewahrleistung ausreichender Starke, sollten die Einzelteile einer geeigneten ELPFP13 668 mm bis 918 mm Abstand 50 mm vom Projektor abzichen und darauf achten, keinen unnétigen Zug auf sie
3|tte d|edse Bzd|en;n%sirt1le|tung grg_r:]d:m_htlesen,dumlfcfel;nen_tsmherer Methode folgend fachgerecht zusammengebaut werden. Immer alle Schrauben fest ELPFP14 918 mm bis 1168 mm Abstand 50 mm auszuiiben.
NZZI:ZZh:;Z%neaSLJbe:WZhrZZ zu gewahrielsten und gritiberelt zum Eleh'erlz da zlcf? dson:; d'? Deglfen?ﬁltGFU?grgs)lften kann. Fehlerhafte Montage kann Zum Einstellen der Position des Projektionsbildes siehe "Deckenhalterung
: ewirken, dal® der Montagebligel herunterfallt. Bedienungsanleitung".
Anfragen ® Das Gesamtgewicht, einschliellich Projektor, betragt eine zweistellige Kilozahl. ¢ ¢
Jegliche Anfragen sollten an die in der Bedienungsanleitung des ﬁr?;g;?;tge(iiz :é;gf;%gﬁgaza:uhsﬂ;;?;!und die Belastbarkeit der Decke beachten
Projektors angegebene Anschrift gerichtet werden. - ; . X . )
! 989 9 e Beim Befestigen der Schrauben an den vorgeschriebenen Stellen unbedingt die
mitgelieferten Schrauben verwenden.
Prolunga per tubo Manuale di istruzioni 7. Precauzioni di sicurezza 2. Per un uso sicuro 4. installazione delle prolunghe per tubi
) ) ) ) Il simbolo di avvertimento sotto indicato &€ usato nel manuale per assicurare un uso ) Vedere @: utilizzare le viti autofilettanti e i dadi forniti per collegare il tubo
Questo prodotto & una prolunga per tubo con funzione di regolazione, corretto ed evitare lesioni alle persone e danni alle cose. Leggere attent mente le Avvertimento A alla piastra sul soffitto, come indicato nella figura.
per aumentare la distanza dal soffitto di un proiettore su cui & istruzioni e comprenderne bene il contenuto prima di procedere. e Dopo l'installazione, qualsiasi cambiamento dell'orientamento o dell'angolazione Vedere @: Installare il tubo B sull'attacco di regolazione dell'inclinazione
PpiZE::?oL?rws;iﬁ;?o‘;z:)igfgtst(s)eprzrfi‘;rs();(t;it;?rlsff‘f)itstznéolo mediante queste AAvvertimento deve essere eseguito da uno specialista. come mostrato in figura, Per lnstallazione, utilizzare le viti
prolunghe per tubi. Ordinare la distinta staffa di montaggio esclusiva Questo simbolo viene usato quando un uso improprio risultante dalla mancata © Non allentare mai ‘alcun bullone, V'.te © dado_dOPO linstallazione. . incluse nella confezione della staffa di montaggio.
per proiettori. ’ osservazione del contenuto di questo manuale di istruzioni puo causare lesioni alle ® Non ruotare a partire dalla staffa di montaggio: potreste cadere o potrebbe cadere il Vedere @): utilizzare le viti autofilettanti e i dadi forniti per fissare il tubo A e
Si prega di notare che Epson non si assume alcuna responsabilita persone o anche morte. proiettore causando dei danni. il tubo B, come indicato nella figura.
() per qualsiasi danno o lesioni risultanti da installazione, montaggio o Se necessario, applicare la boccola decorativa per nascondere il foro sul
c uso scorretti di questo prodotto. o AAvvertimento 3. Controllo degli accessori soffitto.
(1] Il disegno del prodotto effettivo pud non essere identico a quello e Questo prodotto & venduto in base al presupposto che i lavori di installazione siano Verificare che la confezione contenga tutti gli accessori. (Vedere @) Rimozione del proiettore dalla staffa di p—
— mostrato ngllllllustrazpne. - eseguiti da uno specialista con le conoscenze e le capacita tecniche necessarie. Quando si cambia la posizione del tubo A di fissaggio e delle prolunghe per tubi, ¢ possibile |m92|on_e_ © pr0|§ org Bl SENE) e mpn agglq . ..
Le caratteristiche tecniche sono soggette a modifiche senza . L o . Prima di rimuovere il proiettore dalla staffa di montaggio, rimuovere tutti i
E preawviso Esso non deve essere installato da altre persone. regolare la posizione dal soffitto al proiettore nel modo seguente: i collesati al oroi t]tJ rando attenzi 88 tt, liaf
. . . . i Py . cavi collegati al proiettore prestando attenzione a non sottoporii a 1orza
— Preparare gl attrezzi necessari prima di cominciare. ° Mc;fr)tgre le X\a”? parti yzfando i m(le)todl appr(JIprle?t] pUer garantlre.una robustezz‘a ELPFP} 3da g?g mm a ?:ggmm Passo 500mm inutile.
Leggere attentamente questo manuale di istruzioni per assicurare un sufficiente. Assicurarsi i serrare bene tut_te e viti. Un montaggio scorretto pud ELPFP14 dg' mrrI.a 8 mm Pgsso 5 mm . 3 o
uso sicuro del prodotto. Conservare inoltre questo manuale di causare IE.I Cadute? della staffa di mqntagglo. . . Per regolare la posizione dell’immagine del proiettore, far riferimento al "Manuale di istruzioni
istruzioni per riferimenti futuri. ® Con il proiettore, il peso totale raggiunge alcune decine di kg. Controllare per la staffa .
Richieste di inf L attentamente la costruzione, il materiale e la robustezza del soffitto e usare i metodi
Ichieste al Informazioni pit appropriati per prevenire cadute.
Qualsiasi richiesta di informazioni deve essere inviata all'indirizzo e Quando si serrano le viti nei punti specificati, utilizzare sempre le viti in dotazione.
riportato nel manuale di istruzioni del proiettore.
Tubo de extension Manual de instruccion 1. Precauciones de seguridad ) 2. Para un empleo seguro 4. Instalacién de los tubos de extension
» B ) La marca de advertencia mostrada abajo se utiliza a lo largo de este manual de Véase @: Utilice los tornillos penetrantes y las tuercas suministrados para
Este producto son tubos de extension con funcion de ajuste de altura instrucciones para asegurar un empleo correcto y evitar lesiones personales o dafios a &Advertencia fijar el tubo A la placa de montaje en techo, segéin se muestra en la
ara aumentar la altura libre del techo de un proyector que tenga i i i i 7 . ha ; . q o o A ; i ’
iFilstaIada hha Montura para techo para proyeztogles Epgon 9 la prop!edad. Le rogamos que lea estas instrucciones atentamente y entienda el ® Despusés de la instalacion, cualquier cambio de direccién o angulo debera ser ilustracion.
Los proyectores no pueden montarse en el techo utilizand6 contenido antes de proceder. realizado por un especialista. Véase @: Instale el tubo B en el soporte de ajuste de inclinacion segiin se
unicamente estos tubos de extension. Debera solicitar ademas un AAdvertencia ° _No aﬂoj_e’ nunca ninguno de los pernos, tornillos o tuercas después de la mues,tra en la ilustracion. Para la inASIalaCién’ ”Fi““ los tornillos
accesorio de montaje en techo exclusivo para proyectores. Esta marca se utiliza siempre que una manipulacién incorrecta por ignorar el instalacion. ) incluidos en el paquete del accesorio de montaje en techo.
— Tenga en cuenta que Epson no asumira ninguna contenido de este manual de Instrucciones pueda ocasionar lesiones personales o la ® No se balancee en el accesorio de montaje en techo. Podria caer del accesorio o Véase @): Utilice los tornillos penetrantes y las tuercas suministrados para
(o) responsabilidad por los dafios o lesiones que pudieran resultar a propia muerte. provocar la caida del proyector y producirse un accidente. fijar el tubo A y el tubo B, segiin se muestra en la ilustracion.
1] e consecuencia de un ensamblaje, instalacion o manipulacion Fije el forro ornamental, si es necesario, para cubrir el orificio del techo.
(V] incorrecto de este producto. AAdvertencia 3. Comprobacion de los accesorios ; : :
o El disefio del proyector que haya adquirido podra no ser idéntico e Este producto se vende asumiendo que el trabajo de instalacién va a ser Ver P | , dos | , s, (V& Para retirar el proyector del accesorio de montaje en techo
(/)] al mostrado en al ilustracién. realizado por un especialista que posee la habilidad y los conocimientos eriiique que e PaQH?Fe contlgne todos los accesorios necesangs. ( eajse‘O) Antes de retirar el proyector del accesorio de montaje en techo, retire todos
|_u Las especificaciones estan sujetas a cambios sin previo aviso. técnicos requeridos. No debera ser instalado por ninguna otra persona. Cuando cambie la posicion para ajustar el tubo Ay los tubos de extension, podra ajustar la los cables conectados al proyector con cuidado para que no queden

Prepare con antelacion las herramientas necesarias.

Lea este manual de instrucciones completamente para asegurar
un empleo seguro de este producto.

Ademas, guarde este manual de instrucciones para poder
consultarlo en el futuro.

Consultas
Cualquier consulta debera dirigirse a la direccién indicada en
el manual de instruccion del proyector.

® Ensamble las diferentes partes empleando el método apropiado para asegurar
una resistencia suficiente. Asegurese de apretar firmemente todos los tornillos. Un
ensamblaje incorrecto podra hacer que esta consola para montaje se caiga
del techo.

® Con el proyector, el peso total alcanzara varias decenas de kg. Inspeccione
cuidadosamente la construccion, material y resistencia del techo y utilice el método
mas apropiado para evitar que el aparato pueda caerse del techo.

® Cuando apriete los tornillos en los lugares especificados, utilice siempre los tornillos
suministrados.

posicion entre el techo y el proyector del modo siguiente:

ELPFP13 668 mm a 918 mm Paso 50 mm

ELPFP14 918 mma 1168 mm Paso 50 mm
Para ajustar la posicion de la imagen del proyector, refiérase al “Manual de instrucciones de
instalacion”.

sometidos a fuerzas innecesarias.




